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2 7H |3 The burden for accuracy,
; - timeliness, merchantability and fitness for or the appropriateness for use rests solely on
. the requester. The City of Lawrence makes no warranties, express or implied, as to the
N _ § 3 use of the map. There are no implied warranties of merchantability or fitness for a
- o particular purpose. The requester acknowledges and accepts the limitations of the map,
S 2000 2000 including the fact that the map is dynamic and is in a constant state of maintenance,
2 correction and update.
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